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BO1
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BOS

170
(KXS37=0)
lon —1

KXB05=P,T,A,D,D,D,D,D<CR><LF>

P (0-3) T
T 0 [ oFF
A (/R .. 1-28) 1] Low-->Hl
D 2 [ HI -—> Low
3 | HI <-> LOW
< >
Low HIGH o/R

KXB05=0,1,3,3<CR><LF>

BO6
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D -
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KXS01=N<CR><LF>
GCC ID
N: GCC ID (0 - 255)
KXS01=130 (
KXS02=S<CR><LF>
S:
55()22 0: 0
( 1:
KXS03=P<CR><LF>
P:
S03 o 0
1:
2:
3: (
KXS04=1<CR><LF>
OR
I:
S04 . 1
1-3 GCC OR
KXS05 =1<CR><LF>
OR l:
S05 0 1
1-8 OR
9-15 OR
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ACK

S06 Ak

ACK

(ce/ )
ACK

KXS06=A<CR><LF>
Az ACK

GCC
GCC

B W DN O

)

SO7

KXSO7=T,0<CR><LF>

T: Type (0-15)
0: Object
case T=0 O0=2or5 (2: ita2, 5:iadb)

KXS07=0,2 ASCII
KXS07=14

14

SS()EB Ack

KXS08=S<CR><LF>
S:

GCC
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w N - O

4:
5-9:
10-14:

0-4 6ee
0-4

S09

KXS09=S<CR><LF>

I KXS09=1
S: 0:
1:
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KXS14=N<CR><LF>
N : © -5
0: 6CC
1: 6CC
814 2: 0
3: 6CC 6CC
4: 6CC 6CC
6CC
KXS15=B,C<CR><LF> 28
B: 0 - 23) 100
S15 c: ( 0 - 399) 174
KXS16=T<CR><LF>
T: (1- 255)
S16 60
 KXS17=n  KXS16  nx50
)1 (1sec) 50
KXS17=C<CR><LF>
C: (1 - 16)
S17  KXS17=n  KXS16  nx50 2
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KXS18=S<CR><LF>
S: 0: OFF
818 1: ON 0
KXB01,02 KXBO5
OFF(KXS18=0)
D KXS24 (0)  KXS18 (1)
KXS23=XXX . XXXX, YYYY.YYYY<CR><LF>
0.0000
5522:3 XXX XXXX = (-90.0000 - +90.0000) 0.0000
YYYY.YYYY : (-180.0000 - +180.0000) )
KXS24=M<CR><LF>
ON OFF
M:
0:
S24 1
DTE  GPS
OFF 1 KXS18 (1)  KXS24 (0)
KXS25=1<CR><LF>
GPS
1) KXS60=0( )
GPS Gee ':O 3) KXS60=2(6 )
: 1:
1: NMEA 0:
S25 1: 0
2) KXS60=1(10 )
I: _
. &PS KXS60=3 8
1:
GPS
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KXS26=T<CR><LF>

S26 T: @-30) [ 1] 5
DTE
KXS27=T<CR><LF>
T: (1 - 30) [SEC]
827 DTE ACK 5
KXS28=R<CR><LF>
R: (0 - 255)
828 DTE ACK 5
NG
KXS29=R<CR><LF>
R:
S29 > 0
DTE
KXS30=N,P.S.0.11,12.13. 14,15, 16<CR><LF>
N: GCC ID %
530 6CC (10 ) P 5
s: O - 4, 10 - 14) 1
0: O/R 1-23) All
11- 16 : (0 -255)
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KXS31=M<CR><LF>

M: 0:
1:
S31 DTE
: KXS43(len =7)  KXS31(0) ... len=8
S33( ),S34(
KXB00=0 KXS31=0
KXS32=T<CR><LF>
T:
DTE 0:
DTE 1: bmode_rx _som bmode_rx_eom
832 S33( ) S34( )
DTE
KXB00=0 KXS32=0
KXS33=T<CR><LF>
833 DTE T: (1 -604800) [ 1
KXS34=L<CR><LF>
L: (1 - Ib_g_size)
S34
DTE o KXS48
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SOM/EOM,

TX SOM/EOM :

S35 RX SOM/EOM : DTE

SOM/EOM

DTE

KXS35=A,B,C,D<CR><LF>

TX_SOM
TX_EOM (0 - 127 10
RX_SOM
RX_EOM

O 0O w >

SOM/EOM

) KXS32  SOM/EOM

SOM/EOM

WNWN

S36

KXS36=T<CR><LF>

T:
0:
1:

2.

S37

KXS37=M<CR><LF>

M:
0: OFF
1: ON

839 KXB

KXS39=1<CR><LF>
I (O - 86400) [ 1]

KXB

S40

KXS40=M<CR><LF>

M:
0: OFF
1: ON
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KXS41=C<CR><LF>
(OTE- ) c:
0: CTS
S41 iy 1
KXS44 (0)  KXS41 (1)
KXS42=C<CR><LF>
( -DIE ) c:
0: RTS
S42 1
KXS44 (0)  KXS42 (1)
KXS43=B1,P1,S1,D1/B2,P2,52,D2<CR><LF> ( )
RS232C KXS43=B,P,S,D,C<CR><LF> ( ) 81-4
DTE B: (bps) P: s: D: C: Eiii
0: 300 3: 2400 0: 7 0: 1 D1-8
(DSUB 9pin) 1: 600  4: 4800  1: 1 8 1: 2
343 (0SUB 15pin) 2: 1200 5: 9600  2: 2 B2-4
KXS43=B,P,S,D<CR><LF> 1C ) g%;%
KXS31 (0) KXS43 (len=7) D2:8
232C A ON
RS232C
KXS44=D<CR><LF>
RS232C
D:
DTE 0:
S44 1 1
2: ( DTE )
KXS41 (1)  KXS44 (0), KXS42 (1)  KXS44 (0)
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KXS45=T<CR><LF>

T: 0:
845 0 DTE  NACK
1: 1
KXS46=T<CR><LF>
T: 0:
S46 0- NACK( )
1: 1:
KXS47=0<CR><LF>
0:
0:
S47
1:
KXS48=S<CR><LF>
S: ( APPENDIX A)
8k byte 1: 1K/7K 5: 5K/3K
2: 2K/6K 6: 6K/2K
3: 3K/5K 7: TK/1K
848 4: 4K/4K
KXS34
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KXS50=C<CR><LF>

PIN
C: (0 - 9999)
S50 PIN B 0
KXS51=S<CR><LF>
Sh1 s 0
1: ON
GPS KXS52=D<CR><LF>

D: (0 - 100) .

552 GPS WGss4  : 0 .

KXS53=S<CR><LF>
RTS

S:
S 5 3 RTS ORBCOMM 0 .

1:

KXS55=P[,P][,P]<CR><LF>

S55 N o
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KXS56=L ,U<CR><LF>
856 L: 1.0
L: (0.1 - 5000) U: 0
KXB u: 0:Km, 1:mile, 2:NM
KXS57=LAT,LON,R,U<CR><LF>
LAT: 0.0000
S 57 LAT: (-90.0000 - +90.0000) LON:= 0.0000
KXB LON: (-180.0000 - +180.0000) R 1
R : (0.1 - 5000) Uu -0
u : 0:Km, 1:mile, 2:NM
KXS58=S,U<CR><LF>
S58 s (1 - 255) SZ éo
KXB U : 0:Km, 1:mile, 2:NM ’
KXS60=F<CR><LF>
KXB
F:
0:
1: ( GPS )
2: ( GPS )
3: (© )
4: 1 ) 0
S60 5: @
6:
7: (38m ) 1
8: @77 ) 10
KXS25 ( KXS25 )
1 KXS74(1)  KXS60(2-8)
KXB (0/R)4 KXS60(3-8)
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KXS61=S<CR><LF>
RS232C
S:
RS232C RS232C 0: OFF
861 1: ON
2: ON
3: ON
KXS63=S,LH,LM,HH1 ,MM1,HH2 ,MM2<CR><LF>
S: 0: 1:
LH - UTC « .. +9)
863 LM - UTC « .. 0) 0
HH1: ()
MM ()
HH2: ()
MM2: ()
KXS64=S<CR><LF>
S:
S 6 4 KXS79 0: OFF( KXS79 +5
+5  ( 15 ) 15 ) )
1: ON( )
OFF
KXS67=S<CR><LF>
S:
( 0: OFF( )
867 1: ON( )
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KXS68=S<CR><LF>

RS232C
S:
RS232C 0: RS232C
S 68 1: RS232C 0
() - KXS68=1
KXS69=S<CR><LF>

RS232C S:

(KXS68=0) 0:

RS232C 1:

(KXS68=1) 2:

S69 0

1. KXS69=0 KXS68=1

2. KXS69=2

3. KXS69=2 KXS68=1
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KXS70=S<CR><LF>

S:
0
1-9 = )
S70 0
$=1-9
$=1-9
$=1-9
KXS71=CCCC<CR><LF>
ID
87 l C: 4 (0-9,A-2) 0000
ID
KXS72=S<CR><LF>
S:
572 0 0
KXS74=S<CR><LF>
S:
0:
S74 (K1) 1: 0
1 KXS74(1)  KXS60(2-5)
KXS75=S<CR><LF>
S:
0: ( or )
875 (KXB) 1: ( 1
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KXS77=S<CR><LF>

877 DTE S: 0
0: (
1:
KXS78=S<CR><LF>
S78 s 0
DTE 1; ('Buffer Full”
KXB KXS79=T<CR><LF>
S79 10
T: (5-20)T 1
KXS80=S<CR><LF>
S:
0:
1: ( )
880 KXS77=1 0
KXS80=1
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KXS81=T<CR><LF>

881 T: ( 0 - 3932100)[ 1 3600
KXS82=T<CR><LF>
S82 T: (0 - 15300)[ ] 300
KXS83=L<CR><LF>
L: 1
883 1 0S 0: LOW
1: HIGH
2: HOLD ( )
KXSB4=M<CR><LF>
( 6 ) M:
ON 0: / GCC
88 4 GCC 1: GCC KXS85 GCC 0
GCC
2: GCC GCC
KXS84=1 KXS01 GCC GCC KXS85

KX-G710x Ver4.21
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GCC KXS85=B, I<CR><LF>

S85 0

KXS84=1 GCC B: O - 11)
1:6CC 1D (0 - 255)

KXB KXS86=ABCDEFG<CR><LF>
A-G:

S86 0: 1111111

1:

)
KXS86=0111110

GPS
KXS87=D<CR><LF>

887 GPS PDOP( ) 10

oS D : PDOP (1 - 10) (PDOP )
PDOP 5 3 (verl.20 )
KXS88=D<CR><LF>
D :
0:
1:
2 :
S88 3 2
24 2 271 30 ( 24
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KXS90=R ,M<CR><LF>

S90 R - AD T 0:0 - 5 0,0
0: (8bit) 1: 0 - 15V
1: (10bit) 2:
KXS91=S<CR><LF>
S : 0
891 0:
1:
170
KXS94=P,D<CR><LF> KXS94=D1,D2<CR><LF>
P: (0: D101, 1: DIO2) b1,D2: 1,2 1.1
S94 0 :
D: ( ) 1:
0:
1:
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LL ACK  Status Code KXS95=S<CR><LF>
LL ACK  Status Code S : Status Code
(Ver.6.0 )/ (Ver.5.01 ) S=0 : (Ver.6.0 ) Status Code
0:
1: - 30
DTE Status Code 2: -
3: -
S95 ;. '
5: -
ON 0x05/0x85 6: -
DTE ) 7: -
DTE 0x86
DTE S=1 : (Ver.5.01 ) Status Code
2
0:
1: - 30
KXS96=S<CR><LF>
S :
0 : (9pin  RS232C)
S96 1: (15pin  RS232C)
/
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/
KXSOO<CR><LF>
KXS
KXs KXS01=2<CR><LF>
S00 KXS02=3<CR><LF>
KXS03=2<CR><LF>
KXS96=0<CR><LF>
KXBAK<CR><LF>
KXS , KXD, KXM,KXD, KXB

BAK

KXS01=130<CR><LF>
KXS02=1<CR><LF>

KXS95=0<CR><LF>
KXS96=0<CR><LF>
KXLED=1<CR><LF>
KXD01=0,1<CR><LF>
KXD01=1,1<CR><LF>
KXMO1=<CR><LF>
KXB00=0<CR><LF>

SET

KXBAK

DTE

KXSET<CR><LF

<CR><LF>

20

KX
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MO1

KXM01=CCCCCCCCC.. ... C<CR><LF>

ceee. .C: (

200 )

UTC

uTC

KXUTC=LH,LM,DY,DM,DD,TH, TM, TS<CR><LF>

LH : UTC (
LM - UTC (
DY :

D - uTC+

DD :
TH : ( )

™ :
TS :

+9)
0)
1. KXB
KXB
2. GPS GPS

LED KXLED=S<CR><LF>
LED LED S: N
1:
2:
<CTRL> RS232C ON RS232C <CTRL>R
FQ RS232C
RS232C
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KX-G7201N KX Ver 2.1

KXD01=M, X, Y<CR><LF> (X,Y = 0:LOW/ 1:HI)

2 M: O 0 ( :0,X)
1: 1( :1,X)
2: ( T 2,5Y .. X 0, Y 1
> 0 Low
DO l KXD01=0,0<CR><LF>
KXDO1<CR><LF> ,

KXD01=1,1,0,0

1=HI JJ \i 2=LOw
2=HI 1=LOw

KXDO2<CR><LF>

KXD02=ADL1,ADL2,ADL3,D,D,D,D/ADH1,ADH2,ADH3,D,D,D,D<CR><LF>

ADL1-ADL3 : 8 (0 - 255)
ADH1-ADH3 : 10 (0 - 1023)

D02

KX-G710x Ver4.21
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1B KX1B<CR><LF>
OB KXOB<CR><LF>
KXHST<CR><LE>
GCC
1:@USER_MSG ,0,2,112,0R1 .01:25 02.06.18
2:0POS_RPT ,2,2,112,0R1 .06:27 02.06.18
3:0D_10_MSG ,0,2,112,0R1 .06:27 02.06.18
HST
uTC
KXCB<CR><LF>
CB
GCC

KX-G710x Ver4.21
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KXCHK<CR><LF>
< >

ST ID D OK/NG L.l
RAM D OK/NG L.l RAM
LOOP D OK/NG L.l
ASIC D OK/NG L.l ASIC

C H K RTC D OK/NG L.l RTC
ROM Ver. :1.30  ........
Hard Ver. : A2 ... .....
USER APPL : sssS(NON ACTIVE) XXxX ... ( )
GPS Ver. :1.30  ....... GPS
GPS STAT - OK  ....... GPS

KXST<CR><LF>
< >
GCC 1D GCC , , ID
SAT NO (000 )
1B/0B QUE /
ST DATE (TC )

TOTAL SAT
STORED SAT ( 0)
CKSUM ERR ( )
POS STATE

KX-G710x Ver4.21
KX-G7201 Verl1.20
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<CTRL>

GET

<CTRL>+GET  (ctrl GET)

< >

SYNC SEG:[ / / / /
6CC NCC INFO:[GCC 1D, ) 1D/ /
DL CHAN :[ / /..t / /
UL CHAN :[ ID / / )
/ /1
< >

NCC INFO:[130,0,0/-899/110/01:06:13:33:24]

DL CHAN:[285/285/100,320,285,184,275,090,295,265/899/110/01:06:13:33:24]
UL CHAN:[05/04/185,0,194,0/010/-894/110/01:06:13:33:24]

SYNC SEG:[006/000/-904/110/01:06:13:33:25]
SYNC SEG:[006/001/-915/107/01:06:13:33:26]
SYNC SEG:[006/002/-936/109/01:06:13:33:27]

UL CHAN:[05/04/179,0,366,0/037/-942/109/01:06:13:33:28]

SYNC SEG
KXT06=1, CHNO , 0<CR><LF> ESC
CHNO: (1 - 399)
< >
(MHz)= 137 + 0.0025xCHNO
T06 (
CHNO=350 90
KXT06=0 50,150,250,350 1

KX-G710x Ver4.21
KX-G7201 Verl1.20
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KX-G710x/N

KX-G710x/N
1) KXS21=N(N=0-15)
2) KXS59
3) --

KX-G7201N

KX-G7201N
KXS21=N
KXS59=0
KXS10 ERRO

KXS10

KXS11

KXS12

KXS13

KXS19

KXS20

KXS20=0 65536

KXS21

KXS21=0 15

KXS22

KXS38

KXS59

KXS59=0

KXS65

KXS65=0

KXS66

KXS66=1

KXS76

KXPO1

1/0

KXAQO

KXAO1

(KXA)

KXA02

(KXA)

KXAO3

(KXA)

KXAQ5

1/0 (KXA)

KXAO6

(KXA)

KXB03

(KXB)

KXS00

KXS

KXBAK




00/8/11 Preliminary  Ver 0.1 02/08/08 Ver 2.0

00/9/1 Ver 1.0 KXS25
KXS60
00/9/22 Ver 1.1 KXS80
KXS94
KXB0O
KXUTC
KXS18 KXHST
KXS40
KXS56-58 KX-G7101 02/11/28 Ver 2.1
KXS61 KXS84
KXS68
KXS70
KXCHK

00/12/18 Ver 1.2
KXS05
KXS20
KXS61 S=3
KXS95
KXBAK
KXSET

01/02/13 Ver 1.3
KXS86
KXUTC 24

01/07/19 Ver 1.4
KXS52
KXS71
KXS72
KXS74
KXS80
KXS87
KXS90
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